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FF—n 101 FRH TR A 2-9-8 BRERE 2R | 1 | P43 A 2DK 42 ¥ 53,000 = 164 2 = 2= AT (RERGEAHE - BERR)
FF—n 205 FRH TR A 2-9-8 BRERE 2R | 2 | P43 A 2DK 42 ¥ 56,000 = 164 2 = 2= AT (RERGEAH: - BERR)
S74—L 1%# 102 B HARER 618-1 BRERERE 2R | 1 | P49 H 2DK 39.5 ¥ 57,000 = 164 2 = ZEE AT (RERIEAH: - BERR)
77+—L 3&H 202 AR ARER 618-1 RESE 2RE | 2 | FA124E8 A 2LDK 50.48 ¥ 69,000 = 164 2 = 225 MAZE (RERIEA: - BFERE)
JvRxa—t 1 202 B HTSFR 536-17 RS 20 | 2 | PRI134E2AH 2DK 44 ¥ 65,000 = 1 &6 2 = 225 MAZE (RERIERAL - HERR)
-y 201 PR THSIEARRT 47-11 BRI 20 | 2 | EHRS54ETH 2DK 42.75 | ¥56,000 = 1 &6 2 = 225 A (RERAERAL - HERR)
€—3I-UzR A 201 PR AR O 1-4-4 BRI 20 | 2 | FRT74E3H 2LDK 50 ¥ 74,000 = 1 A6 1 = 225 MMAZE (KERIESHL: - HERIRD)
£—3-JYxR CH 102 PR AR O 1-4-4 BRRRE 20 | 1 | ERT74E3H 3DK 50 ¥ 72,000 = 1 &6 1 = 225 MMAE (KERIESL - HERIR)
€—3-Jxx Dff 202 PR AR O 1-4-4 BRI 20 | 2 | ERT74E3H 3DK 50 ¥74,000 = 1 &6 1 = 225 MMAE (KERIESL - HERIR)
t—31-Jxx Gff 201 BT A O 1-4-3 BRI 2ME | 2 | PR74E3H 2DK 42 ¥66,000 = 1Aff 1 = 2= AT (RERIESH: - BERBR)
oY -<_AYx B 101 FRH A E DAL 3-16-2 BRESE 2ME | 1 | PRIE2H 2DK 43 ¥66,000 = 1Aff 2 = 2= AT (RERIEAHE: - BERR)
gy -_urvx E 101 BRH A E DL 3-16-1 BRESRE 20 | 1 | PRIE2H 2DK 43 ¥64,000 = 1A 2 = ZEE AT (RERIESH: - BERBR)
IAYa AfE 201 FRH A E DAL 6-24-5 BEYE 2 | 2 | FR104E2 H 1K 24.71 ¥56,000 = 1A 2 = ZEE AT (RERFERHL - BERR)
SAPa B 108 BRHT A D F: 6-24-5 RESE 2R | 1 | FR104E9 A 1k 24.18 ¥53,000 = 1A 2 = FITE | AR (RERIERH - BERR)
SAYa BEE 202 FRH A E DAL 6-24-5 BESE 2 | 2 | FA104E9 H 1k 24.18 | ¥55,000 = 1A 2 = ZEE AT (RERIESH: - BERBR)
SAYa BAE 205 HM A E D 6-24-5 PR 2R | 2 | FECI04E9 A 1k 24.18 ¥55,000 = 166 2 — ZeE MAZE (RERAERAL - HERR)
SAYa BAE 206 HM A E D 6-24-5 PR 2R | 2 | FECI04E9 A 1k 24.18 ¥55,000 = 166 2 — ZeE A (RERIERAL - HERR)
SAYa BAE 209 HM A D 6-24-5 PR 2R | 2 | FECI04E9 A 1k 24.18 ¥56,000 = 166 2 — ZeE A (RERAERAL - HERR)
F7 v e—n CH 102 BT AT DN 15-14 BERPE 2 | 1 | P12 2 H 2DK 43 ¥65,000 = 1A 1 — ITE | AR (RERGERH - BERR)
b7 Y- Eff 201 BT AT DN 15-14 BRPE 2 | 2 | P12 2 H 2DK 43 ¥65,000 = 1A 1 — ZEE MAZE (RERIE2AL - HERR)
b7 v z—0 Eff 202 BT AT DN 15-14 BRPE 2 | 2 | P12 2 H 2DK 43 ¥65,000 = 1A 1 — ZEE MAZE (RERIE2AL - HERR)
[ 7RIS 27 201 JEHTERT O A 18-9 HESEIRE | 2 | P44 11 H| 2LDK 57 ¥83,000 — 1514 1 = 225 MAZE (RERIERAL - HERR)
v E— N a—FH 201 BRI G 1-20-1 BRESE 2R | 2 | PR 184E3 H 2LDK 61.6 ¥64,000 = 1 a6 1.5 1 ZEE MAZ (RERFERHL - BELRR)




